

ERIE COUNTY WATER AUTHORITY

INTEROFFICE MEMORANDUM

June 7, 2023

To: Terrence D. McCracken, Secretary to the Authority

From: David M. Patton, Senior Production Engineer DMP

Subject: Sturgeon Point Water Treatment Plant Residuals/Sludge Removal, Disposal, and Relocation ECWA Project No. 202300097

On Tuesday, May 30, the Authority received three (3) bids for the above referenced contract. The bids have been reviewed and a mathematical check has been performed. It has been determined that the Authority will utilize Base Bid (Item 1) along with all Alternate Bid Items (Item 2, 3, 4A, 4B, 4C, and 4D and the apparent low bidder is Russo Development, Inc. (Russo). Enclosed please find a copy of the bid tabulation sheet for your use and information.

We have reviewed the references of Russo. Russo is an established contractor who performed work on numerous contracts for the Authority and proved to be a reliable contractor performing assignments in a timely and competent manner. Russo also performed the work removing sludge from Sturgeon Point in 2021 and 2022, therefore, they have a good understanding of the scope and requirements for this contract.

Russo provided adequate WMBE documentation, approved by Director of EEO (ECWA), insurance, approved by Claims Representative/Risk Manager, and proof of apprenticeship program, approved by Coordinator of Employee Relations.

We, therefore, recommend award of the Sturgeon Point Water Treatment Plant Residuals/Sludge Removal, Disposal, and Relocation to Russo Development, Inc. in the amount of \$767,568.00.

Attached please find the following documents:

- 1. ECWA Authorization Form.
- 2. ECWA Recommendation for Award of Contract form.
- 3. Bid Tabulation.

Budget Information (Budget Year: 2023):

Unit: 1010 Sturgeon Point Water Treatment Plant O & M Budget Item No. 35, Refuse and Waste Disposal

DMP:jmf Attachments cc: R.Stoll L.Kowalski M.Wymer L.Lester SPWA-824-2301-X-12

ERIE COUNTY WATER AUTHORITY AUTHORIZATION FORM For Approval/Execution of Documents (check which apply)

Contract: Project No.: 2023000 Project Description: Sturgeon Point WTP Residuals/Sludge Removal, I	
Item Description: Agreement Professional Service Contract Amendment BCD NYSDOT Agreement X Contract Docume X Recommendation for Award of Contract Recommendation Request for Proposals Other	
Action Requested: X Legal Approval Board Authorization to Execute X Legal Approval X Board Authorization to Award Execution by the Ch Board Authorization to Advertise for Bids Execution by the Sec Board Authorization to Solicit Request for Proposals Other	airman cretary to the Authority
APPROVED AS TO CONTENT: X Sr. Production Engineer X Chief Operating Officer X Executive Engineer X Director of Administration X Risk Manager X Chief Financial Officer X Legal APPROVED FOR BOARD RESOLUTION: X Secretary to the Authority	Date: $6/7/2023$ Date: $6/7/2023$ Date: $06/12/2023$ Date: $06/07/2023$ Date: $6/7/2023$ Date: $06/07/2023$ Date: $06/07/2023$ Date: $6/7/2023$ Date: $6/7/2023$ Date: $6/7/2023$
Remarks: Unit price contract.	

Item No:

Resolution Date:

ERIE COUNTY WATER AUTHORITY RECOMMENDATION FOR AWARD OF CONTRACT

Contract: Project Description:	Project No.: 202300097 Sturgeon Point WTP Residuals/Sludge Removal, Disposal, and Relocation					
CONTRACT AWAR Contractor/Supplier: Award Amount:	D Russo Development, In \$767,568.00	c.				
BID SUMMARY: Date Advertised for B	Bids: 05/08/2023]	Date of Bid Openir	ng 05/30/2023		
Russo Developmen S. St. George Enter Pinto Construction	Bidder nt, Inc. rprises, Inc.		-	otal Bid Amount \$767,568.00 \$820,370.00 \$873,600.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00		
Attachments:	X Bid Tabulation	E	Consultant's R	Recommendation		
Fu	Waiver Il Waiver rtial Waiver	Javonya V	Lestee	Date 06/06/2023		
INSURANCE APPRO		Mollygo	Musana	Date		
	PRENTICESHIP PROG	GRAM APPROV	AL //	Date 06/07/2023		
Remarks:						

Project: Sturgeon Point WTP Residulas/Sludge Removal, Disposal and RelocationProject No.: 202300097Bid Opening: May 30, 2023 at 11:00 a.m.

				Pinto Construction Services, Inc. 132 Dingens Street Buffalo, NY 14206		Russo Development, Inc. 3710 Milestrip Road Blasdell, New York 14219		S. St. George Enterprises PO Box 348 Fredonia, NY 14063	
BID ITEM	DESCRIPTION	QUANTIY	UNIT	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
Base Bid									
1	Loading, Transportation, Testing, and Disposal	8000	TONS	\$37.50	\$300,000.00	\$30.00	\$240,000.00	\$29.37	\$234,960.00
Alternate E	Alternate Bid Items								
2	Additional Loading, Transportation, Testing, and Disposal	5000	TONS	\$30.00	\$150,000.00	\$30.00	\$150,000.00	\$29.37	\$146,850.00
3	Operating Crew and Equipment - Residuals Relocation	8	WEEKS	\$42,500.00	\$340,000.00	\$38,016.00	\$304,128.00	\$44,900.00	\$359,200.00
4A	Furnishing 30-ton Excavator	80	HRS	\$285.00	\$22,800.00	\$320.00	\$25,600.00	\$272.00	\$21,760.00
4B	Furnishing 45,000 lb Wide Track or Dozer	80	HRS	\$250.00	\$20,000.00	\$314.00	\$25,120.00	\$260.00	\$20,800.00
4C	Furnishing 40-ton Dump Truck	80	HRS	\$280.00	\$22,400.00	\$264.00	\$21,120.00	\$260.00	\$20,800.00
4D	Furnishing 4-inch Diesel Dewatering Pump	80	HRS	\$230.00	\$18,400.00	\$20.00	\$1,600.00	\$200.00	\$16,000.00
					\$873,600.00		\$767,568.00		\$820,370.00